Matematika A2 konzultacio 2025.06.17.
A2 m,z/_wsa_. [06-4.2.) L. f’da A=t

0o
L) A =-d 44
n=41

A -4 4 ..
2143 s F

Kibmz-e U - elhemalas (1) trabloc <l jtf

Z—'&s >0 tmimoly

2%y < 213
LalbL 2% « 2
Ne o neoecne 2743 2%5%3 .
=2 EA L'ob%a(?‘a - *Q.-aaﬂ row. 16 $hueset



E£2 o s0v L“)”W = 'éc/&au' ’ZO'MM‘QOW

A’o Szoaeu'.) &WW ,&7,

Z-l /%/ ((ﬂj—a’:c. . ) )
h=1 V"“‘-‘;‘ / ey
4. Lannad/ %p'i,

io A "'Z,)%’ % owas 0')2-“4-4(3
2y L. Towropan el =) ABSIOLAT SCows.
W={ ,L+~3 _ _
L — ) launl dig. ‘a(cbau Qans—.
A+4+4 4 =) FELIETELES $ons
A ¢ ~ Lo | diw € T an dir
Hal»wa,&olaﬂ . K J%M’ = lian ‘11".*' cline 4 "E:'!'.?"’
w0 law | Lo _% *3  wra M 4
> 2{1—3
“ +
Sl 242 =l (+RTAYE o =4 LA
M0Z.24 4\5 wn-> “© ‘5 ¥ = 770 2
> 00 ol P 0 - tetat Ja, |

h o,



’{1__ = __i = ,L é A é 1 =4
2Nz, (2 T RS V2« 2
\\/ kT) ”"
A N~
-~ — uTb 0
s 4 o 1 A
24 2 Z

)
00

V'r b1 72, A = 442“‘;"" "Yc( ‘%’%_'(f
: 2

f miwwy

Ll a'“' 94*3"‘ q.?' e s (JCOUAA. -Aov—
w= 0 N ?1‘44 = Lown—
An-ve 4 4 4 a2 4 = A
CZV'?'S 'Z.\v ] 7



bo n - O »
L )7 oud 770 e)= G U4 = L4214t S
nay n*+2 hed &tz 3 6 M A7
1 =/
( -‘-) z
V)
' ‘14‘4)44 MI.‘L
)"Id.vv\a&o‘aol e\\»\, IQ/\-H’ [«M ( = . " =
W=2 & law | WD (wM) +2 1
“_m (+2)(w2e2) = bown W3HLFtL4 L L so.
("‘I*ZM*“(“*«) WD O )34, tt50 3 X
z, =z +"' o
WO At 24§+ 3
w V\"’ «wd \
G%é% : nﬁ-a 4 &'M h L:L/_! - (A.M “__V_\.'_‘_L‘:. 4-:4
“War 21 w=> 9 ht+ 2 wor o OO, A
Mﬁé Jv\,-i-/f =YY %<
t AN\~
h 45\ A?’A’/






L )" A2 5 Lubui | weh = albenaal (A) iy

t4
4 ¢ - e\..“‘\ 'A.:l'_/' = 20 =
“r ntyr X

A44
:bim S A ‘g‘ = (0
w20 4+ 2 4
. ( 4 S - . KL
— UV\OV\O"M)'Q$ '4."‘ l“o“"dlﬂb-‘

VE a wwmenre Ccom«ﬁ(’f.

| o | 7< IO\MM‘
W1 5 44 = atZ
w47 hip) 42 Wtz 3

(W)W qu+3) % (M 2)(ui2)

3 A
YAt 81 By S KA Y th .
Wty w2 =9 Law Lechmz Aowr
. Clex s

A sov 7‘6“‘\‘%/» e Lo




